


















• Commercial banks hold both Treasury securities (call
them “bills”) and reserves. The reserves are deposits
with the Fed. The Fed can increase reserves by buy-
ing bills from the banks. If the Fed buy 100, reserves
of the banks go up by 100 and holdings of bills goes
down by 100. So far no change in the money sup-
ply. But if the reserve requirement is 0.2, the banking
system can make loans of up to 500. Deposits have
gone up by 500, and reserves have gone up by 100.
The loans are in the form of deposits in the banking
system. These are checking accounts, so the money
supply has gone up by 500. If the demand for money
schedule is downward sloping, the increase in the
money supply lowers the interest rate. Conversely,
if the Fed sells bills to the banks, reserves decrease,
and loans (and thus demand deposits) must decrease.
This lowers the money supply, thus leading to an in-
crease in the interest rate.

• If the banks hold excess reserves and the Fed sells
bills to them, they just pay for these out of excess
reserves. They don’t need to contract loans because
they are not fully loaned up. In this case selling bills
to the banks does not increase the interest rate. If the
Fed wants to increase the interest rate in this case, it
must increase the rate it pays commercial banks on



their reserves. How does this work? Say the rate paid
on reserves goes up by 50 basis points. How does the
bill rate increase by 50 basis points, which is what
the Fed wants to happen? Say that the bill rate did
not increase. As the bills that the banks hold come
due, they will not want to roll them over because they
can now get a higher interest rate on their reserves.
So the demand for bills falls, thus driving down the
price of bills, thus increasing the bill rate. The new
equilibrium is where the increase in the bill rate is 50
basis points.

• Discounting. Say the two-year interest rate is .05 and
I have $90.70 today. If I invest this amount today in
an account earning 5 percent interest, at the end of
the year I have $95.24 (1.05 times 90.70). I keep the
money in the account for the second year, and at the
end of the second year I have $100.00 (1.05 times
95.24). So I am indifferent between having $90.70
today or $100.00 two years from now if the inter-
est rate is 5 percent. Note that 90.70 equals 100.00
divided by (1.05)x(1.05).

• At any one time people have expectations about fu-
ture interest rates, say future one-year interest rates.
(We backed out some of these rates in class.) These



expectations are changed by surprise changes in Fed
behavior. If expected future interest rates increase,
long-term bond prices decrease and stock prices de-
crease because the future discount rates have in-
creased.


